CS 3733 Sample Process Scheduling Problem Solution

Gantt Charts:
a) FCFS 5 10 15 20 25 30
Process1 |R|R|R|R|R|R|R|R|IRWWWWWWW,|r |R|RIR R
Process2 |r|r|r|r|rir|r|r|{r RIRW/R|RIRIR|R
b) SIF 5 10 15 20 25 30
Process1 |r|r|R|R|R|IR|RIR|RIR|R W/W|R|R RIR
Process2 |R|R riririr{rir{r|rRIRIRIRIR
¢) PSIF 5 10 15 20 25 30
Processl |r|r|(R|r|r|r|r|r|R|R|IR|R/RIR|R|RWWWWWWWRR RIR
Process2 |R|R R|RIR|IR|R
d RR3 5 10 15 20 25 30
Processl |R|R|R|r|r|RIR|R|r|r |r|RIRIRIWWWWWWW| R RIRR
Process2 |r|r|r|RIRW|r|r|RIR|IR r RIR
Alaorith CPU Waiting Time Time Finished
gorithm Utilization | Process1l Process2 Average | Process1 Process?2
a) FCFS 22/23 1 9 50 23 17
b) SIF 22/24 2 8 5.0 24 16
¢) PSIF 22/29 7 0 35 29 8
d RR3 22/27 5 8 6.5 27 16




